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X3 min = x3;

X x1>=3;

X X2>=8;

X X X2 >=x1+6;
X X ﬁ> X3>=x1+7,
X X X3>=X2+ 2;
X x1>=0;

X x2>=0;

X x3>=0;
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A Min. X, Xg X Xp Xg
B
A Stox;, 3-x, Xy 1
D A X, 8-Xg Xg 4
E _CB L X, X 6-X%c Xc
Xs X, T-%p xp 1
X3 Xy 2-Xg xe 1
X5= 10
X, 0(i=1,23)
x; 0(i=A,B,CD,E)
min = 5*xA + 6*xB + 4*xC + 3*xD + 7*XE;
Xx1>=3-XA;
X2 >=8 - xB;
X2 >=x1+6-xC;
x3>=x1+7-xD;
LINGO X3>=x2 +2 - xE;
x3 =10;
X |::> XA <=1;
A 4
XA xB <=4;
xC<=2;
Xa X |:> 5*XA + 6*xB + ... XD <=1;
XE <=1,
1>=0;
Xp I:> XA <= 1; X2 o= 0.
x3>=0;
XA >=0;
xB >=0;
xC >=0;
xD >=0;
(x;=10)
Global optimal solution found at iteration: 5 ( ) )
Objective value: 4.000000 A Xp = 0
B Xxg=0
Variable Value Reduced Cost c A Xc= 1
XA 0.000000 1.000000 D A Xp= 0
XB 0.000000 0.000000 E CB 1 Xe=0
XC 1.000000 0.000000 ’ E
XD 0.000000 3.000000
XE  0.000000 7.000000 X X X X Xe =
X1 3.000000 0.000000 A B c D E
X2 8.000000 0.000000
X3 10.00000 0.000000 C 6 5
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PERT (X5= 8) (1)
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A Xp =
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